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1. The “classical inconsistency” means that there is no irtersection between
aggregate demand and aggregate supply curves. In other words, the outcome of
the equalization between output supply and demand can not be achieved by Pprice
adjustment,  Please answer the following questions:

(a) Please explain how Keynesian economists solve the problem of classical
inconsistency (answer your question with diagrams) (10§

(b} Pleass explain how classical economists solve the problem of classical
inconsistency. (answer your question with diagrams) (10}(}

2. Consider the following Mundell Model:

Y=C{)+IR)+G+B(E,Y,Y*) - IS curve
L(Y, R)=D+FR meweaee LM curve
R=R*

Where Y, Y*, R, R*, C, I, G and E are domestic incore, foreign income, domestic
nominal interest rates, foreign nominal interest rates consumption, investment,
government spending and nominal exchange rates, respectively. D and FR are
domestic credit and foreign reserve.

(a) please explain what does the interest rate parity mean? (5§

{b) Does the above Mundell model related to interest rate parity. (5%)

(c) please explain the impacts of the foreign decrease of nominal interest rates (R*)
on domestic output and foreign reserve under the flexible exchange rate system.

(10%)

3
Pepsi
Advertise Don’t Advertise
Advertise B: NT$i2 B: . NT$7
Coke M: NTS$8 M: NTS$16
Don’t advertise B: NT$20 B: NT$40
M: NT§3 M: NT$30

Refer to the previous Table. Pepsi and Coke must decide whether to begin new
advertising campeaigns promoting their light beers based on the potential profits
shown in the previous table. What is the equilibrium outcome? (10%)
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4.

Country Output ‘
Units of Rice ' Units of vegetable

US {(domestic) 1,000 or 5,000

Japan (foreign) 200 or 2,000

Please explain the comparative advantage in the production of rice resides in domestic
ot foreign country. And explain why is so. (10%)

5. Suppose the domestic equilibrium steel price is higher than that of world price.
This implies that domestic country imports steel from the foreign country. If
domestic country impose import quota on steel import then explain the impact of
Import quotz on consumer surplus, producer surplus and government revenue. (15%)

6
(a) Please explain what is “Coase theorem” (5% )
(b) Please explain what is “constant return to scale” (5 %)
(<} please explain what is “Pareto optimum?’ (5 %)
(A what is “Lucas critique”™? (5% _
(&} what is the basic assertion of Neo-keynesian economists? . (5%)




